: ¥ RR1 ==> RI
1 112 F5 3 > FIpEEFHL ZRR] ==> R 1
#1: 9 EREBEFRERATID #2: 3 s%rm%(w 68) #3: 5 phizp B #.(14.39)
8 NS: sS4t 221§ HEEAC) -3 7 NS: BRE B BREE5 (BO) -2 9.14 : 10.86| Total VP: 9.14 Rank:
EW: PR Z255E50) 2 EW: RiE5 BEHE(RAC) 3 IMP:| 11 13 6
I — —
#1 » AT3 2SE-1 -50 Mean: 3HW-4 200 3.0 1 #2 » J654 4HE4 420 Mean: 4HE-3 150 80 1
v AJ76 2SE-1-50 100 1NW-3 150 20 1 v Q75 4HE-3 -150 -210  4HE-2 100 70 2
¢ 62 Dif: 0 NS:-2 1NN2 120 1.0 3 ¢ 93 Dif: 570 NS:8 4HE-1 50 60 1
» T765 IMP: 0 EW:2 1NW-2 100 00 1 & AQJ4 IMP: 11 EW:5 4HE4 420 -50 3
s J9 » Q7642 2SE-1 50 20 4 ||aT97 » AQ32 3NW3 400 -50 1
v Q432 v 98 v 984 I v AKJ62 4HES -450 6.0 1
¢ QJI953 * A7 + A65 + KQ 3NW4 430 -6.0 1
+ Q9 & KJ32 & KT93 » 87
® VBN 4, K85 o ¢VABN 4 K8
N 3~3~2 vKIT5 N ~~~~~ v T3
S 3 ~3~2 ¢KT84 S ~~~~~ o JT8742
E ~~~~~ » A84 E ~~433 4652
W ~~~~~ W ~~444
#3 » AQ74 6DN6 -920 Mean: 6DN6 920 30 2||#4 » K97 1NN1 -90 Mean: 3DW-2 200 6.0 1
v 6CS6 -920 820 6CS6 920 30 7 v QJ8 1SW3 140 -30  1NN1 90 30 2
+ KQJ983 Dif: 0 NS:3 6DS-1 50 130 1 + K964 Dif: -230 NS:-3 3DW3 410 20 1
& 972 IMP: 0 EW:-3 & AJT IMP: -6 EW:-3 2DW3 110 20 1
» T983 » Q863 a AJ4 1SW2 110 2.0 1
v QT63 v A7 + v T952 1NW1 90 20 1
¢ T2 ¢ AJ82 ¢ T753 1NN-1 100 -2.0 1
» A64 » 932 & K7 1NE1 90 20 1
» J2 *OVAN 4, T52 1SW3 140 3.0 1
v AKJ9 N 1~1~~ o K643
*A S 1~1~~ ¢Q
& KQJ853 E ~2~21 & Q8654
W ~2~21
#5 » Q64 3NE-4 -200 Mean: 3NE-4 200 60 1||#6 » K97 4HW4 620 Mean: 4HW-1 100 110 1
v A92 2DW3 110 -50 5CE-3 150 50 1 v K92 4HW4 620 -410  3HW4 470 6.0 1
+ Q764 Dif: -310 NS:-2 2CE2 9 1.0 1 ¢ J653 Dif: 0 NS:-5 2HW4 170 6.0 2
» T95 IMP: -7 EW:-6 3DW3 110 20 2 & AT3 IMP: 0 EW:5 4HW4 620 -50 6
s 97 & AT2 3DE3 410 20 2 | |a QJT2 ~ A86
v 753 v KQJ8 2881 100 -20 1 v A83 — v QT754
+ AKJ985 .2 2DW3 110 -20 1 ||e AT82 ¢ Q7
» KQ732 38S8-2 -200 -40 1 & KQ & 752
o4 VAN 4 KJB53 o ¢ VBN 4543
N ~~~~~ v T64 N ~~~~~ v J6
S ~~~~~ ¢T3 S ~~~~~ + K94
E 233~1 &AM E ~~432 &J9864
W 233~1 W ~~432
#7 » A6 4HS-1100 Mean: 4HS-1 4100 00 8 ||#8 s QT 4CN5 -150 Mean: 3SXS4 630 9.0 1
v A863 4HS-1100 -110  4HN-1 4100 00 1 v T98 3CN5-150 210  4SS4 420 50 2
¢ A74 Dif: 0 NS:0 4HN-2 200 -3.0 1 *9 Dif: 0 NS:-2 4HE-4 200 0.0 1
& 8532 IMP: 0 EW:0 & KQJT975 IMP: 0 EW:2 4CN5 150 2.0 1
» K9752 » Q83 # 65 » 974 3CN5 150 -20 1
vJ7 + v QT5 v KQ75 v J642 ME2 100 30 1
¢ T653 ¢ J8 ¢ AK872 o JT 3Cs3 110 3.0 1
& AQ S » J9764 » A4 » 8632 3HE-1 50 -40 1
SOV ABN ,JT4 ¢ VAN 4, AKJB32 4SS-1 -50 6.0 1
N ~ 13~ ~ v K942 N 3~~31 ¢A3
S ~13~1 ¢KQ92 S 3~~41 ¢ Q6543
E 1~~~~ &KT E~~1~~ a
W1l~~~~ W ~~1~~




112 £ F > A EREHL 2RRI =

R2

#1: 5 Bk Bl #(31.29) #2: 9 iﬁzﬁ%ﬁﬁ%ﬁz(% 84) #3: 3 ﬁ-ﬂé(zz 0l)

8 NS: Sogf4 221§EBE0) 8 1 O NS: 2B SHHE(BAC) -5| 13.45 : 6.55 Total VP: 22.59 Rank:
EW: gﬂ%ﬁ Fﬁ,‘ﬁ’ﬁ(ﬁﬁos EW: E3Z5E 5REH(BAO) -8 IMP:| 23 14 4
#9 . KT4 3NE 1100 Mean: 3NE-1 100 9.0 4 [[|#10 » 542 4HS5 650 Mean: 5HS5 650 40 2
v J74 4HE5 -650 -310 3HE7 260 20 1 v T73 4SXE-1200 510  4HS5 650 40 5
+ QJT63 Dif: 750 NS:9 4HE4 620 -70 1 ¢ T642 Dif: 450 NS:4 4SXE-1 200 -70 3
& K2 IMP: 13 EW:8 3NE3 -600 -7.0 1 & J62 IMP: 10 EW:7
4 652 s Q7 4HE5 650 -80 1 ||as KQ7 » AJ9863
v QT5 v AK983 4HE7 710 9.0 1 v38 _I_ v J62
¢ 54 — * AK7 4HE6 680 -9.0 1 ||e 98753 *J
& QJT83 & A97 » T953 & A74
%o ¢ VAN 4AJ983 FOVAN T
N ~~~~~ v 62 N ~25~~ v AKQ954
S ~~~~~ ¢ 982 S ~25~~ ¢ AKQ
E 5~5~2 #654 E ~~~3~ &KQs
W 5~5~2 W ~~~3~
# 11 » AK64 1NN-1 -50 Mean: 1NN2 120 2.0 4 ||# 12 s A5 3HN-1-100 Mean: 4HN-1 100 6.0 1
v K75 1NN190 70 2SE-2 100 1.0 1 v QJT953 4HN-1 -100 -320  3HN-1 100 6.0 1
+ A65 Dif: -140 NS:-3 1NN1 90 1.0 2 + AQ4 Dif: 0 NS:6 3SW3 140 50 2
& K93 IMP: -4 EW:-1 2SE-1 50 1.0 1 & 54 IMP: 0 EW:-6 4HN-2 200 3.0 2
& Q953 ~ T872 1NN-1 50 3.0 2 ||a KJ942 » QT3 4SXW4 590 -7.0 4
v QT86 v A9 v Ad I v6
¢ T4 + Q873 + 96 ¢ KJT53
& AQ8 a J72 » KJ73 » 9862
*OVAN ,J ¢ VAN 4876
N 222~2 ¢J432 N ~~2~2 o K872
S 222~2 ¢KJ92 S ~~2~2 ¢872
& T654 E 33~3~ aAQT
W 33~3~
#13 s AJ 3NS-3-300 Mean: 1NS3 150 60 1 # 14 & K963 4SS4 420 Mean: 4SS5 450 10 2
v A76 1NS3 150 -110 1NS1 90 50 1 v 84 4S5S4 420 420 4SS4 420 0.0 8
¢ KT8 Dif: -450 NS:-5 2NS-1 100 00 3 o+ AK94 Dif: 0 NS:0
» 97654 IMP: -10 EW:-6 3SW3 140 1.0 1 » T98 IMP: 0 EW:0
& KT874 \ 4 965 3NS-2 200 -3.0 2 ||aT & J54
v K854 v J9 2NS-2 200 -3.0 1 v AKJT76 v 932
*3 + + Q76542 3NS-3 300 50 1 ||e J8 ¢ T6532
& AKJ a» T2 & Q762 & 53
% ¢VAN 4Q32 %oV AN 4, AQBT2
N 3~1~2 ¢QT32 N 4~~41 Q5
S 3~1~2 ¢+AJ9 S 4~~41 ¢Q7
E ~~~~~ & Q83 E ~~~~~ & AKJ4
W-~~~1~ W ~~~~~
# 15 » Q65 4SWS5 -450 Mean: 5HE5 450 00 1 ||# 16 » 83 48S-1-50 Mean: 4SXS4 590 11.0 1
v K86 4SW5 -450 -450  4SW5 450 0.0 4 v 82 4SS-1-50 70  4Ss4 420 8.0 2
¢ 98 Dif: 0 NS:0 4HE5 450 00 3 ¢ AKT5 Dif: 0 NS:-3 3SS3 140 20 1
& J9865 IMP: 0 EW:0 5HE6 480 1.0 1 & KQ932 IMP: 0 EW:3 4SS-1 50 3.0 3
» K8432 a~ AJ7 4HE6 480 10 1 ||s T4 ~ AQ75 48S-2 100 -5.0 1
v QT7 v AJ952 v AQ976543 — v JT 4SXS-2 300 9.0 2
¢ QJ3 ¢ AT52 ¢+ J98 ¢ 7632
& K2 a7 » & 654
P OVABN ,T9 oo VAN 4, KJ2
N 1~~~~ 943 N5~~3~ K
S 1~~~~ ¢K764 S 5~~3~ ¢Q4
E ~5566 &AQT43 E ~~3~~ &AJT87
W ~5555 W ~~3 ~~




112& < & > RAMEEHEHL 2RI

==> R3

TR (38.81)

#1: 9 EHEBEFRERR(42.74) #2: 6 %?Ea(39 T #3: 7

8 NS: SE4T4 ZREIC) 9 3 NS: BR<FR #F{ZE(F80) 8 10.44 : 9.56 | Total VP: 33.03 Rank
EW: &5 SEBEI0) -8 EW: &liil55 BRiEER(BAC) -9 IMP:| 16 15 6
— I -
# 17 aT7 2SS-1 50 Mean: 2SS3 140 3.0 1 # 18 » J983 3NE4 430 Mean: 2SW4 170 6.0 1
v AQ3 3HE-2-100 40  3HE-2 100 20 1 v AKT3 3NE4 430 -400 3NE3 400 0.0 1
+ J976 Dif: 150 NS:2 2SS2 10 20 2 ¢ 54 Dif: 0 NS:-1 4SW4 420 1.0 1
*» 9632 IMP: 4 EW:3 2SN2 10 20 1 » 864 IMP: 0 EW:1 3NE4 430 1.0 6
4 J852 » Q6 2HE-1 50 00 1 ||aAKQT5 # 76 3NE5 460 2.0 1
v J76 v T9852 25S-1 50 30 4 ||ws84 | v QJ2
¢ AT2 + K543 * A2 + QJ76
* KT5 » A8 » A953 » KQJ2
%® ¢V BN 4 AK93 PO VAN 442
N 2~~11 vK4 N ~~~~~ v 9765
S 2~~11 ¢Q8 S ~~~~~ + KT983
E ~~~~~ » QJ74 E 5~~44 &T7
W~~~~~ W 5~~44
#19 » QJ942 4SE4 620 Mean: 4SW-4 400 9.0 1 [|#20 » T8732 3NW5 660 Mean: 5CW7 640 9.0 1
v 8764 3NW-1-100 0 5CW-2 200 50 1 v Q87 6CW7 1390 -1030 3NW5 660 9.0 1
+ 86 Dif: 720 NS:3 3HS3 140 40 2 * 9872 Dif: -730 NS:-8 4HW6 680 8.0 1
& T2 IMP: 12 EW:12 4SE-1 100 3.0 1 & Q IMP: -12 EW:-9 3NW6 690 8.0 1
» K6 # AT873 3NW-1 100 30 2 |(|aA94 a6 3NW7 720 7.0 1
A9 v QT 3HS-2 400 30 1 ||e KJ + v A9654 6CW7 1390 -8.0 5
* KJT97 ¢ 54 4HXS-3 500 -11.0 1 ||e Q5 ¢ AKT4
& AJ96 & K754 4SE4 620 -120 1 ||a AT8752 & KJ3
FeVAN o5 . N a KQJ5
N ~~~~~ v KJ532 N ~~~~~ v T32
S ~~1~~ ¢AQ32 S ~~~~~ ¢ J63
E 54~34 Q83 E 7~6~7 &964
W 44~32 W 7~6~7
# 21 4 AT 3NN5 -660 Mean: 3NN5 660 80 1 # 22 & KJT43 4HE4 620 Mean: 4HW5 650 2.0 1
v K84 4HS4 -620 320  4HS4 620 70 5 v 4HW5 650 -700  4HWA4 620 2.0 1
+ KJ8 Dif: -40 NS:7  4HS-1 100 9.0 1 « AT63 Dif: -30 NS:2 4HE4 620 20 3
& AK942 IMP: -1 EW:-8 4HN-1 400 9.0 1 » K765 IMP: -1 EW:-2 4HXW4  -790 -3.0 1
4 J86432 » Q97 3NN-1 400 9.0 1 ||a AQ86 a5 4HXE4 790 3.0 4
v J6 v Q75 3NN-2 200 1.0 1 ||v QJ62 —_ v AKT873
¢ AT6 + Q54 + KQ ¢ J975
* 83 » QT75 » 984 » J3
o eVABN ,K5 eV AN 4,972
N 444 ~2 yAT932 N 3~~3~ 954
S 444~2 49732 S 3 ~~3~ ¢842
E ~~~~~ * J6 E ~~4~1 &AQT2
W ~~~~~ W ~~4~1
# 23 a9 4SW5 650 Mean: 6SW-1 100 120 1 ||# 24 » K9543 4SN4 -420 Mean: 4SS4 420 70 2
v 764 4SW6 680 -580 5SWS5 650 20 1 v K92 4SN4 -420 110  4SN4 420 70 2
+ QT982 Dif: -30 NS:-3 4SW5 650 20 4 * QJ43 Dif: 0 NS:7 4SS-1 50 -40 2
» Q876 IMP: -1 EW:2 4SW6 680 30 4 a2 IMP: 0 EW:-7 4SN-1 50 -4.0 2
» AQJT85 » K642 'y » AT62 3NS-2 400 50 1
v AK5 + v QT9 v QT87 v A543 2HN5 250 B0 1
¢ 764 ¢ A5 ¢ K72 ¢ T85
& K S & T532 & T96543 »QJ
FeVAN oT73 ¢V AN 4, QJS7
N ~~~~~ v J832 N ~2~32 ¢J6
S ~~~~~ * KJ3 S ~3~32 ¢ A%
E ~~~53 &AJ% E 2~2~~ aAK87
W~~~53 W 2~2-~-~




112 < & > AMHEEHEHL 2RI

==> R4

#1: 6 B1E(54.09) #2: 9 EE}%%?R%%[%(M 01) #3: 5 BkIEFEIH(47.16)

8 NS: sS4t Z21§HEEHC) -2 4 NS: #53H AR EN(BIO) -13 14.09 : 5.91 Total VP: 47.12 Rank:
EW: #iE T SEBEEH0) 13 EW: iti#E# #imsR(BAC) 2 IMP:} 14 : 3 4
I — I
#1 s 197 3NE3 400 Mean: 2CW-3 150 7.0 1 [[#2 a4 2CW2 90 Mean: 2NW-1 50 40 2
v QJT 3NE3 400 -140 5DW-2 100 6.0 1 v AK63 2HW3 140 -80 2CW2 90 00 1
+ K3 Dif: 0 NS:-6 4HE-2 100 6.0 1 + AT64 Dif: -50 NS:-2 1NWA1 -90 00 1
» T8632 IMP: 0 EW:6 3DW-1 50 50 1 » KT98 IMP: -2 EW:0 3CW3 410 1.0 1
aJ & AK4 4SXS-1 4100 1.0 2 ||a AQ65 # J82 2NW2 120 1.0 1
v 6432 v K987 3NE3 400 60 3 ||vQJ I v T8752 2HW3 140 20 3
¢ AQ8742 ¢ JT65 3NE4 430 7.0 1 ||e KQ52 *J 2HE3 140 20 1
& 75 » KQ » A43 » QJ75
% ¢V OSN 4 Q86532 % ¢V AN 4 KTI73
N 2~~3~ 9A5 N ~~~~~ v 94
S 2~~3~ 99 S ~~~~~ + 9873
E ~33~~ &AJM E 2~2~2 462
W ~33~~ W 2~312
#3 » K96 5CS6 -420 Mean: 6NN7 1020 50 1 [|#4 o T874 3HN4 -170 Mean: 3HN4 170 2.0 2
v AQ 6CS6 -920 840  6CS7 940 30 3 v AKT87 3HN3 -140 90  3HN3 140 20 3
+ AKQ2 Dif: 500 NS:2 6CS6 920 20 3 ¢ 43 Dif: -30 NS:2 2HN3 140 20 1
& 9643 IMP: 11 EW:9 6CN6 920 20 1 & 82 IMP: -1 EW:-2 2S8S2 110 1.0 1
a 42 3NN7 520 -80 1 || 62 ~ Q95 2HN2 110 1.0 1
v 98643 5CS6 420 90 1 ||e Q32 + v4 4HN-1 4100 -5.0 1
¢ T843 + Q985 + AJ76 3DE3 110 5.0 1
~ QJ » Q754 » AKJ96
VAN 4, AKJ3
N ~~441 v J9%5
S ~~441 ¢ KT2
E 33~~~ T3
W 33~~~
#5 & K754 3NS-3 300 Mean: 2HN2 110 70 1 #6 4 J86 3NE5 660 Mean: 3NW4 630 1.0 1
v KQ 2HN-2 200 -180 4DS-1 4100 20 1 v 52 3NW5 660 -650 3NW5 660 0.0 6
¢ Q8 Dif: 100 NS:-1  2NN-1 4100 20 1 ¢ AJ9764 Dif: 0 NS:0 3NE5 660 0.0 3
& AQ852 IMP: 3 EW:3 3SW3 140 1.0 1 » 98 IMP: 0 EW:0
4 QJ83 & A962 4DS-2 200 1.0 1 ||a Q72 & AT9
v JT542 v7 2NN-2 200 1.0 1 v A8 — v KJT74
¢+ K + A643 2HN-2 200 1.0 1 ||e KT3 + Q8
& T96 & KJ43 3NS-3 -300 -3.0 1 & KQ632 & AT7
FOVABN BT 2CN-3 -300 -3.0 1 o ¢ VAN 4 K543
N ~ 2~~~ ¢ A9863 4HN-4 -400 6.0 1 N ~~~~~ v Q963
S ~ 2~~~ ¢JT9752 S ~~~~~ ¢ 52
E 3~~3~ a7 E 6~4~4 &J54
W 3~~3~ W 5~4~5
#7 » 82 4SE6 680 Mean: 6SW-1 100 130 1 [|#38 s A9 3HW-3 -150 Mean: 3NW-3 150 3.0 1
v J654 4SE6 680 -680 5SE6 680 00 1 v 93 2NW-3 -150 50 3HW-3 150 3.0 1
+ 8653 Dif: 0 NS:0 4SE6 680 0.0 4 o JT8765 Dif: 0 NS:3 2NW-3 150 3.0 1
& AK3 IMP: 0 EW:0 5SE7 710 1.0 1 & AK4 IMP: 0 EW:-3 2HW-2 100 20 2
a 63 ~ AKQJ9754 4SE7 710 10 2 ||a J5 ~ Q8762 2HW-1 50 00 3
v AT87 + v3 6SE6 1430 130 1 ||v AQJ8E5 v7 2HW2 110 40 2
+ AKQ72 *9 ¢+ AQ + K93
& 96 S » QJ5 » J87 » QT93
FOVAN T %o VAN 4, KT43
N ~~~~~ v KQ92 N ~1~~~ o KT42
S ~~~~~ ¢ JT4 S ~1~~~ ¢42
E ~~~55 &T8742 E 2~121 &652
W~~~55 W 2-~121




112& < & > AMEEHEHL 2RI

==> RS

#1: 5 Bk EI£(66.9) #2: 6 BHE(64.53) #3: 9 T B FARFERR(57.33)

8 NS: S48 BEEEEAC) -24 2 NS: BRE<F HiEF(5R0) -9 VP:| 6.22 13.78 | Total VP: 53.34 Rank:
EW: #ig T SEBEE0) 9 EW: 8lfE% 5E55(BAC) 24 IMP:| 15 25 5
I
#9 ' 6SXW-2 -500 Mean: 6SXW-2 500 9.0 2 |[|#10 » KT95 2HN2 -110 Mean: 4SXS4 790 120 1
v K42 4SW4 620 80  6SW-2 200 30 5 v KT862 3CE3110 140  3HN4 170 1.0 1
* Q2 Dif: 1120 NS:-12 6SW-1 100 1.0 1 ¢ Q3 Dif: -220 NS:-6 3HN3 140 00 2
» J9865432 IMP: -15 EW:-9 5HE5 650 -12.0 1 & AJ IMP: -6 EW:1 2HN3 140 00 1
& KQJT742 a3 4swa 620 -12.0 1 ||a A742 a8 2HN2 110 1.0 3
v A8 v QJTI76 v Q43 _I_ v 95 3CE3 110 6.0 2
¢ KT93 — + A65 * 94 * AKJ62
& & AK7 » K982 & T7653
% ¢ V&N 4 A9865 *oVAN 4, Q63
N1~~~~ 953 N ~~342 vAJ7
S 1 ~~~~ ¢J874 S ~~342 ¢T875
E ~4545 QT E 3~~~~ Q4
W ~4555 W 3 ~~~~
# 11 aT 2SS2 -110 Mean: 2SE-3 150 3.0 2 ||# 12 a6 5HS6 -680 Mean: 6HNG6 1430 9.0 4
v K9 2SS-150 30 4HW-2 100 20 1 v QT964 6SXW-5-1100 1020 6SXW-5 1100 2.0 1
+ AT642 Dif: -160 NS:-2 2SS2 110 20 3 ¢ AKQ Dif: 420 NS:2 5HN7 710 7.0 1
& KQ542 IMP: -4 EW:-2 2SS-1 50 20 2 & K974 IMP: 9 EW:8 5HS6 680 -8.0 1
a9 ~ AKQ62 38S-2 100 -40 1 » KQT72 5HN6 680 -8.0 2
v QJT854 v 762 3HW3 140 50 1 I v J32 4HN6 680 -8.0 1
¢ 85 + K73 + 86
& A983 a J7 » 652
%o ¢ VAN o,J87543 a J5
N 23~2~ A3 v AK87
S 23~2~ +QJ) ¢ JT742
E ~~3~~ a&T6 & AQ
W ~~3~~
#13 4 QT6 6DS-3 300 Mean: 3NN6 690 120 1 ||# 14 » QT8432 4SXN-3 500 Mean: 6HE-1 50 100 1
v AQ92 6NN-1100 70  3NN5 660 110 2 v A9 4SXN-3 500 -410 4HE4 420 0.0 1
* A7 Dif: 200 NS:-5 6NN-1 100 -50 4 ¢ J7 Dif: 0 NS:-3 5HWS5 450 1.0 1
a.AQ73 IMP: 5 EW:9 6NN-2 200 70 1 » QJ2 IMP: 0 EW:3 4HW5 450 1.0 3
# 9843 & KJ52 6DS-3 300 -9.0 1 A s K 4HE5 450 1.0 1
v JT43 v K7 6CN-4 400 -10.0 1 || KQ543 v J62 4SXN-3 500 -3.0 3
+ 6532 —|— 98 + Q543 + AK62
& 6 & J9542 & A73 & K9865
VAN ,A7 oo VAN 4 J9765
N 565 ~6 w865 N ~~~~~ v T87
S 465~6 ¢ KQT4 S ~~~~~ ¢ T98
E ~~~~~ & KT8 E 555~2 &T4
W ~~~~~ W 555 ~2
# 15 » 97 4SW6 480 Mean: 5SW6 480 2.0 2 ||# 16 » 82 4SW6 680 Mean: 5SW5 650 0.0 1
v KJT5 4SW6 480 -530 4SW6 480 20 7 v 853 4SW5 650 -650 4SW5 650 0.0 7
+ A976 Dif: 0 NS:2 6SW6 980 -10.0 1 ¢ J8 Dif: 30 NS:0 3NE5 660 0.0 1
& 962 IMP: 0 EW:-2 & AKJ973 IMP: 1 EW:1 4SWe6 680 -1.0 1
& AT864 » KQ2 & AK764 » QJ9
v v Q873 62 — v KQJ
+ Q83 ¢ KJTS + AKQT7 ¢ 632
& AKQ85 » J3 » Q864
¢ VABN ,J53 oo VAN 4, T53
N ~~~~~ v A9642 N ~~~~~ v AT974
S ~~~~~ ¢ 42 S ~~~~~ ¢ 954
E 65~61 &T74 E ~5~54 a&52
W 65~61 W ~5~54




112& < & > AMEEHEHL 2RI

==> R6

#1: 5 Bk EIE(82.65) #2: 6 =-¥E(7S. 92) #3: 1 BER(66.64)

8 NS: $]-2:3 B EHC) 4 5 NS: BRES) 3RAE(BAO) 14| 4.25 15.75| Total VP: 57.59 Rank:
EW: &g REBEHO) -14 EW: E€# M 2% (BAC) 4 IMP:| 14 : 31 6
S ———————
# 17 # 85 2SS2 -110 Mean: 2SS2 110 1.0 4 ||# 18 » K862 3SE-2 -100 Mean: 3SE-2 100 60 1
v QJ64 2SS2-110 90  2NN2 120 1.0 1 v J8 2SE2 110 -140  4HS-1 4100 1.0 1
¢ JT87 Dif: 0 NS:1 1NN2 120 1.0 3 + K6 Dif: -210 NS:1  2SE2 110 1.0 2
» AQJ IMP: 0 EW:-1 1NN1 90 00 1 » K9743 IMP: -5 EW:-6 3SE3 140 0.0 1
s T93 s Q72 3NN-1 50 40 1 ||s 53 & AQJT94 2SW3 140 0.0 1
v 953 v AKT8 v 96 I v QT7 2SE3 140 0.0 1
+ AK4 * Q52 ¢ AJ743 ¢ 852 4HS-2 200 20 1
& T532 & 986 » AQTS a8 3HXS-1 200 -2.0 1
% ¢V BN 4,AKJ64 FOVAN o7 3NN-4 400 6.0 1
N ~1~21 972 N 1~2~~ v AK5432
S ~~~2~ 4963 S 2~2~~ Q79
E ~~~~~ * K74 E ~2~2~ &J62
W ~~~~~ W ~2~21
# 19 & AQ97652 3NS3 -400 Mean: 5CXE-4 1100 13.0 1 ||# 20 » QT4 2HN4 -170 Mean: 2HN4 170 1.0 4
v QT62 4SXN-1100 210  4SN4 420 50 1 v AKJT7 2HN3 -140 140  2HN3 140 00 3
*AJ Dif: -500 NS:-7 3NS3 400 50 1 ¢ 83 Dif: -30 NS:0 2HN2 110 1.0 3
» IMP: -11 EW:-5 3CXE-1 200 00 1 & K72 IMP: -1 EW:-1
s KJT a8 3SN3 140 20 1 a A7532
v K7543 v AJ 2SN2 110 -3.0 1 + v8
+ Q52 ¢ T87 4SN-1 50 60 2 ¢ AT54
& 62 a AJT9875 3SN-1 50 6.0 1 » QJ6
o eVAN 43 4SXN-1 100 -7.0 1 & K98
N ~2132 98 v 642
S ~2~3 2 ¢K9643 + Q97
E 1~~~~ &KQ43 & AT43
W1l~~~~
# 21 & K9543 5CN6 -620 Mean: 6SN6 1430 120 1 # 22 4 T832 4SN4 -420 Mean: 5SS5 450 1.0 1
vJ 6SN6 -1430 800  6CN6 1370 11.0 1 v AT4 4SS5 -450 430 4SS5 450 1.0 1
. Dif: 810 NS:12 5SS6 680 -3.0 1 *5 Dif: 30 NS:1 4SN5 450 1.0 2
& AQJT764 IMP: 13 EW:5 5SN6 680 -3.0 1 & A8542 IMP: 1 EW:0 4ss4 420 0.0 2
A6 a T72 4SN6 680 -3.0 2 54 s Q7 4SN4 420 0.0 4
v QT973 v K854 5CN6 620 5.0 4 ||v K986 — v Q
¢ K9864 * AQ2 ¢ T843 * AKJ972
&8 » 532 & KJT » Q976
*¢VAN ,QJ8 % ¢ VAN 4 AKJ9
N 6 ~~62 vA62 N ~~451 ¢ J7532
S 6~~62 ¢JT753 S ~~451 ¢Q6
E ~23~~ &K9 E ~1~~~ &3
W ~23~~ W ~1~~~
# 23 » Q953 2SS3 -140 Mean: 5CE-2 200 7.0 1 ||#24 » QJ8 4SW4 420 Mean: 4SW4 420 00 5
v KQ752 5DW6 620 -100  3SS3 140 6.0 1 v T8763 4SW5 450 -430 4SE4 420 0.0 1
¢ J83 Dif: -760 NS:-11 2SS3 140 6.0 1 * K4 Dif: -30 NS:-1 4SW5 450 1.0 3
&2 IMP: -13 EW:-6 5DW-1 100 50 1 & K85 IMP: -1 EW:0 4SE5 450 1.0 1
a4 ~ J87 48S-1 <100 0.0 1 & KT76543 & A9
v A98 + v T43 3DW4 4130 1.0 3 ||v A%4 v KQ2
¢ AKT972 * Q4 5SXS-2 -500 -9.0 1 5 ¢ AQT963
& AT9 S » KJ753 5DW6 620 -11.0 1 ||a Q2 aJT
% ¢ VAN 4, AKT62 oI VAN 42
N ~~~3~ vJ6 N1~~~~vJ5
S ~~~3~ 465 S 1~~n~~ ¢J872
E 34~~2 &Q864 E ~3241 aA97643
W 34~~2 W ~3241




112& < & > AMEEHEHL 2RI

==> RT

#1: 5 BEIZHEI2(96.74) #2: 6 EXE(06. 42) #3: 3 FHE(75.82)

8 NS: sS4t 221§ ¥EEHC) 9 1 NS: 5 $E{ZH(BAO) -16 16.68 : 3.32 Total VP: 74.27 Rank:
EW: B Z485E50) 16 EW: BREIE 3 iA(BAC) -9 IMP:| 37 16 4
I I —
#1 » KT84 2SS3 -140 Mean: 4SS4 420 9.0 1 |[#2 » 972 3NE5 460 Mean: 3NW5 460 0.0 4
v T73 4SS-150 40 3883 140 30 1 v JT87 3NE5 460 -460 3NE5 -460 00 6
« A96 Dif: -190 NS:-3 2SS3 140 3.0 1 ¢ J94 Dif: 0 NS:0
» KJ9 IMP: -5 EW:-3 2SN3 140 3.0 1 » QJ8 IMP: 0 EW:0
s 72 » 96 488-1 50 30 2 ||a Q63 » K84
v QJ5 v K862 4SN-1 -50 3.0 2 ||v A954 I v K6
* QJ2 + KT4 4SS-2 100 -40 2 8 + AKQT62
+ AQ632 & T754 & A7632 » K5
® VBN 4 AQJS3 o ¢ VABN 4 AJTS
N ~1~22 9A%4 N ~~~~~ v Q32
S ~1~22 48753 S ~~~~~ ¢ 753
E1~~~~ a8 E 56~~5 &T94
W1~~~~ W 56 ~~5
#3 » AJ65 4HW-1 -100 Mean: 4HW-2 200 30 4 ||#4 » Q95 2SN-2 200 Mean: 3DE-1 100 40 1
v 42 4HW-1-100 90 4HW-1 100 0.0 4 vT5 3DE-1-100 -30  1NW-1 100 40 1
+ QJB3 Dif: 0 NS:0 2HW3 140 60 2 * J932 Dif: 300 NS:4 1HS2 110 40 1
& 986 IMP: 0 EW:0 & Q653 IMP: 7 EW:5 1SN1 80 30 1
» KQ74 a 93 a 632 a AT4 3SN-1 100 20 1
v AK876 v QT5 v K987 + v A2 2HS-1 4100 20 1
¢ K ¢ T652 ¢ T854 + KQ76 2DW2 -90 20 1
& 532 » AQ74 » K2 & JT97 2DE2 90 20 1
P VABN ,T82 o VAN 4, KJIS7 2SN-2 -200 -5.0 2
N ~1~1~ ¢J93 N ~~21~ v QJ643
S ~1~1~ ¢A974 S ~~21~ ¢A
E1~3~1aKJT E ~2~~1 a&A84
W1~2~1 W ~2 ~~1
#5 s Q2 3SS4 -170 Mean: 4SS4 620 100 1 ||#6 & AK7 5HW-1 -100 Mean: 4SXS4 500 50 2
v Q983 4SS4 -620 180  4HXW-2 300 3.0 1 v 8 4SXN4 -590 420  4SXN4 500 50 3
+ QT862 Dif: 450 NS:10 3SS4 170 0.0 4 + Q865 Dif: 490 NS:5 4SN5 450 1.0 1
& JT IMP: 10 EW:0 2SS4 170 0.0 2 » K8632 IMP: 10 EW:8 4ss4 420 0.0 1
# 765 s K 2883 140 1.0 1 ||sQT 92 5HW-2 200 6.0 1
v AT76 v K542 48S-2 200 9.0 1 ||v KQJ542 v AT63 5HW-1 100 8.0 2
¢ 73 * AJ54 ¢ 93 ¢ A74
+ KQ63 & 8752 » AQJ & T975
%o ¢ VAN 4AITI843 % ¢ VAN 4 J86543
N ~1~32 oJ N ~4~4~ 997
S ~1~33 +K9 S ~4~4~ ¢ KIT2
E 2~2~~ &A% E1~3~1 &4
W2-~2~-~ W 1~3~1
#7 » KQ98653 5CE5 600 Mean: 3SN3 140 7.0 1 |[|#8 » Q864 6CW-1-50 Mean: 6SE-2 100 50 1
v K5 4CE4 130 -150  4SN-1 4100 20 2 v A9643 4SE5450 -100 6SW-1 50 40 1
*QJ Dif: 470 NS:1 4CE4 130 10 5 ¢ JT7 Dif: -500 NS:-8 6CW-1 50 40 4
& A2 IMP: 10 EW:10 4SXN-1 200 -20 1 T IMP: -11 EW:-4 5SE-1 50 40 1
aJ a A74 5CE5 600 -10.0 1 | |a AK75 ~ J932 4SW5 450 -8.0 1
v JT732 + vQ T v Q5 4SES 450 B0 1
¢ KT4 ¢ A985 + KQ63 ¢ A8 5HXN-3 -500 9.0 1
& T874 S » KQ963 & AK9 » QJ543
P OVABN T2 FOVAN T
N ~~~ 2~ ¢ A9864 N ~~~~~ v KJ872
S ~~~2~ #7632 S ~~~~~ ¢ 9542
E 53~~~ aJ5 E 5~~42 &872
W53~~~ W 5 ~~42




112& < & > FMEEHEHL 2RI

==> R8

#1: 6 BEYE(105.98) #2: 5 ﬁk’rﬁlﬁlé@? 24) #3: 3 F14(95.32)

8 NS: SE4f4 Z51§HEEAC) 17 6 NS: BREEZE #in 2 (FH0) 8 10.44 : 9.56 Total VP: 84.71 Rank:
EW: B Z#55EI0) -8 EW: ZhiEi8 FEIE(BAC) 1 IMP:| 27 26 5
o —
#9 85 2SE3 140 Mean: 2SE3 140 9.0 1 |[#10 s A95 3DE-1-100 Mean: 2NE-2 200 6.0 1
v Q2 4SE4 620 -550 5DXN-3  -500 2.0 3 v KT962 2NE-2 -200 -50  3NE-1 100 40 1
+ KJT864 Dif: -480 NS:-2 4SE4 620 -20 5 + KQ8 Dif: 100 NS:6 3DE-1 100 40 1
» QT8 IMP: -10 EW:-9 5DXN-4  -800 -6.0 1 » Q8 IMP: 3 EW:-4 2NW-1 100 40 2
s T93 » AQJ764 s 43 » KQJ8 3DE3 410 220 1
v KJ96 v T8 v J874 _I_ v A5 2NW2 120 2.0 2
7 — + Q32 ¢ A732 ¢ T965 2NW3 150 -3.0 1
& AJ643 » K7 & AK3 & J65 3NW3 -600 -11.0 1
VAN 4, K2 o ¢VABN 4 T762
N ~ 2~~~ ¢ A7543 N ~~~~~ v Q3
S ~2~~~ ¢A9%% S ~~~~~ J4
E 3~~4~ #0952 E ~3~~2 &T9742
W 3~~4-~ W ~3~~2
# 11 & T9543 3CXN4 -570 Mean: 3CXN4 570 110 1 7SS-1 100 Mean: 6SS6 1430 130 2
v9 2SN2 -110 10  4HE-3 150 4.0 1 6SS6 -1430 580  6NS6 1440 130 2
+ A8 Dif: -460 NS:3  4HXW-1 100 3.0 1 Dif: 1530 NS:13 3NS7 720 40 1
& AQJ52 IMP: -10 EW:-11 2SN2 110 3.0 1 IMP: 17 EW:12 7SS-1 100 120 2
» K87 ~ AQJ6 3HW-1 50 20 2 ~ T9875 7NS-1 100 120 1
v QJT853 v 74 2SN-2 4100 -30 1 v QT8 7CS-1 100 120 1
¢ T96 + KQ54 2HW2 110 -3.0 1 + Q643 7NN-2 200 -13.0 1
&7 & KT6 3HE3 140 40 1 a8
®OVAN 4,2 3DXS-4 800 -13.0 1
N 4 ~ ~ ~ ~ ¢ AK62
S 3~~~ ~ ¢J732
E ~~11~ #9843
W ~~11~
#13 a7 2SE3 140 Mean: 3HN3 140 40 1 # 14 & AT94 4HE4 420 Mean: 4HW-1 50 9.0 1
v AT743 4SW-1-100 0 4SW-1 100 30 5 v KJ 4HE4 420 -320  4HE-1 50 90 1
+ AK54 Dif: 240 NS:3 3swW3 140 -40 2 + Q8 Dif: 0 NS:-3 3NE3 400 20 1
» 964 IMP: 6 EW:4 2SW3 140  -40 1 & QT762 IMP: 0 EW:3 4HW4 420 -3.0 3
» T9652 N » AQJ3 2SE3 140  -40 1 ||a 32 » KQJ 4HE4 420 -30 3
v J2 v KQ v A63 v Q9874 4HES -450 4.0 1
°T7 + * J932 + AK5  T74
& KQ82 » AJ5 & AJ943 » K8
oo VAN 4o K84 o ¢ VAN 4, 8765
N ~11~~ »9865 N ~~~~~ T52
S ~11~~ +Q86 S ~~~~~ o J9632
E 3~~3~ &T73 E 3~4~4 &5
W 3~~3~ W 3~4~4
# 15 » 543 1NE2 120 Mean: 1NE1 90 1.0 1 ||#16 & KT852 2SE-1-100 Mean: 2SXE-1 200 50 1
v 9874 1DE290 -120 1DE2 9 1.0 1 v T2 2SN-3150 0 2SE-1 100 30 1
¢ A74 Dif: 30 NS:1  2SE2 110 00 1 T Dif: -250 NS:-4 2DW-1 100 3.0 1
& 965 IMP: 1 EW:0 2DE3 410 00 2 & 76543 IMP: -6 EW:-3 1NW-1 100 30 1
& AT76 ~ 982 1NE2 120 00 1 ||sAJ ~ Q9643 3CN-1 50 20 1
v K652 m vJ 1DE3 110 0.0 2 ||e KJ973 — v6 2CN-1 50 20 1
* QJ3 + K652 1NE3 150 1.0 1 ||e A753 * J964 3CN-2 100 -3.0 1
& KT » AJ743 1HXS-1 200 -20 1 ||s Q8 » KJ2 2DW2 90 3.0 1
F VAN oKQ o OVAN o7 3CN-3 150 -4.0 1
N ~~~~~ v AQT3 N 2 ~~~~ ¢ AQ854 2SN-3 150 40 1
S ~~~~~ + T98 S 2~~~~ ¢KQs2
E 33~31 Q82 E ~2~11 a&AT9
W 33~31 W ~2~11




112& < & > AMEEHEHL 2RI

==> RY

#1: 6 BEYE(114.31) #2: 3 FIE(110.55) #3 5 BkizA B £ (107.68)

NS: Sogf4 221§EBE0) -9 9 NS: EHE EIAR(EAC) -15 12.77 : 7.23 Total VP: 97.48 Rank:
EW: #bE T SEBEEIC) 15 EW: #4818 BRiziF(BAO) 9 IMP:| 19 12 4
__ - —
T 3HN3 140 Mean: 3NS3 400 7.0 1 |[#18 s J9 2SE2 -110 Mean: 2HS3 140 30 1
v 632 1NS2 120 100  1NS5 210 30 1 v 96 2HS2110 30  4SXE-1 100 20 1
¢ T6432 Dif: 20 NS:1  1NS3 150 2.0 1 + AQJ5 Dif: -220 NS:-4 4SE-2 100 20 1
& AJT7 IMP: 1 EW:-1  3HN3 140 1.0 1 & AK943 IMP: -6 EW:-2 3SE-2 100 20 2
#» K853 1NS2 120 1.0 2 ||a QT73 #» K8654 2HS2 110 20 1
v KJT7 3CN3 110 00 1 [|w 32 I v AKT 3SE-1 50 1.0 1
+ K85 3NS-1 50 40 2 [|e T987 * K3 4HS-1 100 -40 1
» K4 2SW2 110 50 1 ||# Q87 » JT6 2SE2 110 40 1
VaN 4AQ2 FOVAN 4, A2 3SE3 140 50 1
3 ~ 2 v AQ85 N 223~~ v QJ8754
3~2 oAJ7 S 223 ~~ ¢642
~1~ &Q62 E ~~~21 &52
~1~ W ~~~21
a9 4HS6 480 Mean: 4SXE-2 500 2.0 1 |[|#20 » 854 1NS4 180 Mean: 3NS4 630 7.0 2
v A9 3SE-1100 430 4HS6 480 20 5 v KQT5 2NS4 180 350  3NS3 600 6.0 2
+ AT9872 Dif: 380 NS:2 4HS5 450 1.0 2 ¢ T83 Dif: 0 NS:-5 2DW-2 200 40 2
& K762 IMP: 9 EW:8 4HS4 420 00 1 & AK2 IMP: 0 EW:5 2NS4 180 5.0 1
~ AKQ8653 3SE-1 100 80 1 » KT962 2NS3 150 5.0 1
v T83 + v 862 1NS4 180 5.0 2
*3 *5
a J5 » 9853
SN »J2 a AJ7
~ ~ ¢ KQJ754 v J93
~~ ¢Q + KQJ
2 ~ & AT93 & T764
2 ~
& K92 4SE5 -450 Mean: 5SE-1 50 9.0 1 # 22 & AT973 4SS-1 -50 Mean: 4SS4 420 9.0 1
v K954 4SE4 -420 -340  4SE-1 50 920 1 v 84 3SS3140 50  3SS3 140 30 2
¢ A53 Dif: -30 NS:-3 4SE4 420 -20 2 ¢ AT4 Dif: -190 NS:-3 3SN3 140 30 1
» J52 IMP: -1 EW:2 4SE5 450 3.0 6 » T54 IMP: -5 EW:-3 4SS-1 50 3.0 4
& AJ654 # 64 4SN-1 50 3.0 1
v T6 v AKJT3 — v 76 18S-1 -50 3.0 1
o7 ¢ 532 + QJ986
» AK763 & AJ96 » KQ82
4T3 % ¢ VAN 4 KQJB5
v Q87 N ~~~3~ » Q952
¢ J982 S ~~~3~ ¢K7
& QT98 E 343~~ &73
W 343~~
» 32 2CE2 -90 Mean: 3NE-4 400 9.0 1 ||# 24 » 8543 5CXE-2 300 Mean: 4HS4 420 9.0 1
v J765 3CW3-110 o0 3NE-3 300 7.0 1 v QJ852 4HS-1-50 40 5CXE-2 300 60 1
+ QJ94 Dif: 20 NS:-3 2CE-2 200 50 1 ¢ T82 Dif: 350 NS:6 3HN3 140 30 1
& A92 IMP: 1 EW:3 3CW3 110 30 1 & A IMP: 8 EW:3 4CE-1 50 00 1
a AJT7 2DW2 90 3.0 1 ||s KJ76 ~ Q92 4HS-1 50 3.0 3
+ v K 2CE3 110 30 1 97 v A 4HN-1 50 3.0 1
* A7 2CE2 90 3.0 2 ||e QJ765 * K4 4HXS-1 100 40 1
S » K87653 2CE4 130 -40 1 ||aT2 » KJ87543 3CE4 130 50 1
& Q9865 28S-2 200 -50 1 * VAN AT
v AQT N ~~3~1 v KT643
+ 85 S ~~3~1 ¢A3
& QT4 E 31~2~ &Q9%
W 31~2~




